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(i) 144,198

Bd:
144=2x2x2%x2x3x3
198=2x3x3x11
Hofo=2x3x3=18

(ii) 225, 450

Bl

225=5x5x3x3
450=5x5x2x3x3
Hofo=5x5x3x3=225

(iii) 13, 39, 273
Bl

13=1x13
39=13x3
273=13x3x7
HoYo =13

(iv) 120, 144, 204

?d:
120=2x2x2x3x5
144=2x2x2x2x3x3
204=2x2x3x17
Hofo=2x2x3=12

(v) 101,909, 1111
B

101=1x101
909=3x3x101
1111=1x11x101
Ho¥o =101

(vi) 625, 3125, 15625

Bl

625=5x5x5x5
3125=5x5x5x5x5
15625=5x5x5x5x x5
Hofo=5x5x5x5=625
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Hofo = 58

Hofo =13

HJofo = 55

(iv) 2241, 8217, 747
e : 747 ) 2241 (3
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HoHo = 747
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Bl
125-1=124dY194-1=93
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31ah: 31ty T3 = 31

Uy 4.
I8 TSI J TSI TBT TR ORI 49, 59 3R 109 BT U A TR HHT: 1,3 3R 5 AY G|
B

49-1=48,59-3=56d4T109-5=104

2 | 48, 56, 104
2 | 24, 28, 52
7| 12, 14, 26

6, 17, 13

HoYo=2x2x2=8
3rd: iy T = 8
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